H £ 0l & AF & S

Al A

s8I
sgol=He
NIE sttsdat J1=X~d (St &)
M- B SRASH) - HRAR - B2 of v e HIDE2
=s20|= 7,774,943 3,503,615 4,271,328
= 931,600
Jl 4,331
= 407,400
Al 6,431,612
=He 5,755,255 3,352,833 2,402,422
= 931,600
) 4,331
= 407,400
Al 4,411,924
2 St JI=X2 3,348,935 1,642,530 1,706,405
= 658,100
[ 9,000
Al 2,681,835
ST A SAAY 5,000 5,000 0
206 M=l 5,000 5,000
01 MZH| 5,000 5,000
LSS As8ns SARMN 2L
2,500,000 *2ha 5,000
sHl=ESMe WFEIL XIE 6,950 6,710 240
201 er2 3| 3,150 2,910 240
01 AtR2t2|HI 3,180 2,910 240
O8I =2 M
70,0002 * 104 2 70
OZ&EIts] ML M=
12,0002 * 1402 1,680
OS] HA gi=
700,000 =2CH 1,400
301 EtE NS 3,800 3,800
11 #AIAHIXIE S 3,800 3,800
OZEdEItel It &K
8,0002 %100 800
Osgel st=A0ILE ZIF AHIXIS
60,0002 +50& 3,000
Slles SsdE 20,760 20,760
201 Let=Ehl 600 600
01 AtR2t2|HI 600 600
O1N&EZ SRS 150,000 ~4CH 600
202 04| 20,160 20,160
01 =LHOHI 20,160 20,160
Odsag =0 1,680,000& «12& 20,160
Azl 29 16,000 16,000 0
207 ARl 16,000 16,000
03 A& 328 16,000 16,000




FA s8II=sn
33 I l=He
Helr NSE st DX (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OuZE=24 NS 28
200,000 +802 16,000
s =)= XN& 147,000 194,500 A47,500
402 2IZtA=01d 147,000 164,500 A17,500
01 QI XHE AL E R (KM THE) 147,000 164,500 A17,500
Ol gl dFHMI = Al
49,000,000& *14] 49,000
Olt== =] M2Ulol S e=2s Mg
70,000,000& *14] 70,000
OAE&0l BSHIEZ Jlzs Al
28,000,000 x 14 28,000
sH=E golis 2H A2 280,000 280,000 0
206 M=l 40,000 40,000
01 M=4l 40,000 40,000
=2 gois & Molllliol X2
100,000& *400ha 40,000
307 lztol & 240,000 240,000
02 LB HAHE L 240,000 240,000
Ol galis(28t7201, =2Y) 2l 2&Al X
= 160,000& % 1,500na*50% 120,000
OH dolis d=at =EHH N2
150,000& %1, 600ha*22] 25% 120,000
SHEgdE HZEE Mt 2Y 19,000 19,000 0
= 5,700
Al 13,300
101 @124H| 2,000 2,000 0
= 600
Al 1,400
M OIRINZZ2NSE S 2,000 2,000 0
Ogalis tZaa 2 LAIAS
2,000,000& %14 2,000
= 600
Al 1,400
201 et 3| 7,000 12,000 /5,000
= 2,100
Al 4,900
01 At2t2lt] 7,000 12,000 25,000
Ogals ozazd 2g +St|
5,000,000 * 174 2~ 5,000
= 1,500
Al 3,500
ORUSSTESY HEANLE 2E =&
2,000,000 * 10 2 2,000
= 600
Al 1,400




SN SIS
33 I l=He
Helr NSE st DX (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
206 M=l 2,500 1,000 1,500
= 750
Al 1,780
01 HEH 2,500 1,000 1,500
OHsE 0l L FE ST
2,500,000& 14! 2,500
= 750
Al 1,750
207 AR 5,000 2,500 2,500
= 1,500
Al 3,500
03 A& 328 5,000 2,500 2,500
OdaliE Ol & M A"
5,000,000& 14 5,000
= 1,500
Al 3,500
405 AtaHE = 2,500 1,500 1,000
= 750
Al 1,750
01 Tt 2SS F=HI 2,500 1,500 1,000
Ogals oZdtd LES
2,500,000& *14] 2,500
= 750
Al 1,750
SHESEHE 2L =Y 6,000 6,000 0
= 1,800
Al 4,200
206 MH=H| 6,000 6,000 0
= 1,800
Al 4,200
01 M= HI 6,000 6,000 0
Osf=dois 22X 228 M=
6,000,000 * 14 6,000
= 1,800
Al 4,200
sHESEolE LMLl N 56,100 70,560 14,460
= 28,050
Al 28,080
206 MH=H| 56,100 70,560 14,460
= 28,050
Al 28,050
01 M= HI 56,100 70,560 14,460
OFAHS(atad) 400,000% *66ha 26,400
= 13,200




FA s8II=sn
33 I l=He
Hel: NEE sdsdd DX (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 13,200
Osggais(=) 220,000& %135ha 29,700
= 14,850
Al 14,850
B Eolis MEE & AL =4 1,496,000 1,496,000
401 Al HIZL 2048 1,496,000 1,496,000
01 Al&H| 1,496,000 1,496,000
O ZollE HEE & MAZE &4 1,440,000
> EXI0HHI 1,440,000,000& * 141 1,440,000
ORUESESL & JI&EHl 0l8LX
56,000,000 * 14! 56,000
sgaDls Al 1,020,000 930,000 90,000
= 510,000
Al 510,000
402 QI>F X201 & 1,020,000 890,000 130,000
= 510,000
Al 510,000
02 QI XHZ AL E R (01X THE) 1,020,000 890,000 130,000
O=2X 30 AMEHE Sgst AE(IX o
<) 100,000,000 *10H 2~ 100,000
= 50,000
Al 50,000
OS==0| HeII8HA =4 Alg
200,000,000 *10H 2~ 200,000
= 100,000
Al 100,000
OAHIN 858 D70t SUSEES 22
A 150,000,000 * 191 2 150,000
= 75,000
Al 75,000
Ok=9 22 E22480] THHHEX =4
30,000,000& *10H 2~ 30,000
= 15,000
Al 15,000
OBiOI2Xt & &X 23 AEMuiAl 2&0t
A L= NE 30,000,000 *1IH 2 30,000
= 15,000
Al 15,000
OdMA= Moty o= ?Ie dEHN S&
2l Alg 80,000,000& * 14| 80,000
= 40,000
Al 40,000
OLI ASE =t E= Iz AlY
50,000,000& »14! 50,000
= 25,000




FA s8II=sn
33 I l=He
Helr NSE st DX (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 25,000
OUMES €8 = 22335 Sl £
o Alg 200,000,000& *14] 200,000
= 100,000
Al 100,000
O0l&1)2 WS AIET A rEdlsh Al
100,000,000 *14] 100,000
= 50,000
Al 50,000
OAEEF 201 ASHO AAE 25 AlY
20,000,000 *14! 20,000
= 10,000
Al 10,000
Ostgll FUHSEZE 152 did|s 25
A& 60,000,000& » 14 60,000
= 30,000
Al 30,000
t2e|doiE g 284 141,000 94,000 47,000
= 70,500
Al 70,500
101 e124d| 70,200 50,000 20,200
= 35,100
Al 35,100
M ORINZZENSE S 70,200 50,000 20,200
O=Jr2c|galiE M= 2
2,600,000& «3H <93 70,200
= 35,100
Al 35,100
201 fet=3| 27,000 27,000 0
= 13,500
Al 13,500
01 At22t2lt] 26,000 26,000 0
OF4ot U 222 HE
3,000,000 14| 3,000
= 1,500
Al 1,500
OHRA 1=l 200,000 %25 5,000
= 2,500
Al 2,500
Og Mt extz 2,000,000 0 18,000
= 9,000
Al 9,000
2 35234l 1,000 1,000 0
OgNIxte xte= Al
1,000,000 %14 1,000




SN SIS
33 I l=He
Helr NSE st DX (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 500
Al 500
206 M=l 43,800 15,000 28,800
= 21,900
Al 21,900
01 M=4l 43,800 15,000 28,800
OgHe 2EME(TIE, LHAM) 7
43,800,000& *14] 43,800
= 21,900
Al 21,900
sRLE tEXel K& 105,125 0 105,125
= 42,050
Al 63,075
307 elztol & 105,125 0 105,125
= 42,050
Al 63,075
02 2IZHBYAIHE A 105,125 0 105,125
OgsFit= erdxel Xd
105,125,000 * 14! 105,125
= 42,050
Al 63,075
sS4z dolis HZ YrE 2EX= 30,000 0 30,000
= 9,000
Al 21,000
101 @124H| 24,610 0 24,610
= 7,384
Al 17,226
04 JIZtNZ22 NS+ 24,610 0 24,610
Os&= Holls z gt 24
24,610,000 x 14 24,610
s 7,384
Al 17,226
206 M=Hl 5,390 0 5,390
& 1,616
Al 3,774
01 MHZH| 5,390 0 5,390
OWZgN 3 & Me
5,390,000& 14 5,390
= 1,616
Al 3,774
o2 & SEsMSML JlsEe 800,500 604,703 195,797
== 378,800
Al 421,700
driE2d 23 4,500 8,703 A4,203




SN SIS
3 sIl=MHeg
CHOl: MIAMIRZ U OFRISAISMA DS HD (e
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
206 M=l 4,500 4,500
01 MHZH| 4,500 4,500
Ost2Ma A2t 2 X 2
4,500,000 *14] 4,500
X &35 &2 J|BZA(MEAY) 700,000 400,000 300,000
=S 350,000
Al 350,000
402 2I2FX=201H 700,000 400,000 300,000
< 350,000
Al 350,000
02 QI TH2AILEE(OIHTHE) 700,000 400,000 300,000
OHAS == 2l NASsES |4
300,000,000 »10H A 300,000
= 150,000
Al 150,000
OSsiAe U2 JIBES U JIRAES
400,000,000 * 11 2 400,000
== 200,000
Al 200,000
AHEsd SsZA FAEHX S4 Al 16,000 0 16,000
S 4,800
Al 11,200
402 2I2F X201 & 16,000 0 16,000
= 4,800
Al 11,200
02 QI X2 AL E R (01X THE) 16,000 0 16,000
OXMEE S oA 54
20,000,000 #80% 16,000
s 4,800
Al 11,200
o= O 25 Alg 80,000 0 80,000
& 24,000
Al 56,000
402 QI”F X201 & 80,000 0 80,000
= 24,000
Al 56,000
02 QI A2 AL E (01X THA 80,000 80,000
Ot UiE=8 2o AlY
100,000, 0002 *80% 80,000
=S 24,000
Al 56,000
AL dEsY JleEs 482,372 699,018 A\216,646
= 16,500
Jl 4,331
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SN SIS
3 sIl=HeE
Helr XgEslE MBsY D=2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 17,700 17,700
01 A2l 2,700 2,700
OSMSARLEAN 2A+8Y|
2,700,000 *14] 2,700
02 S3=gHl 15,000 15,000 0
OstEtd e 2 A4 Al EHl |RA2el
15,000,000 * 14! 15,000
206 M=Hl 1,200 1,200
01 MHZH| 1,200 1,200
OsASOHLSHY SHR 7Y
30,0003 405 1,200
207 ARl 63,000 63,000
03 Al 2HI 63,000 63,000
Ostr=td g 24 AEil e 63,000
PEAS A 250,000 x65+ 128 18,000
> EBEEA HEAY
25,000,000 * 14| 25,000
>ASEE JIAM 20,000,000& » 14 20,000
sSgddd =29 32,000 37,000 /5,000
= 8,000
Al 24,000
101 21AH| 12,000 0 12,000
= 3,000
Al 9,000
M ORNZZ2NSE S 12,000 0 12,000
Osgddd 29 JIZN22 4
12,000,000 * 14| 12,000
= 3,000
Al 9,000
201 fer23| 2,500 6,600 24,100
= 625
Al 1,875
01 AtR2t2lHl 2,500 6,600 24,100
Oseddd Hole & Y |AEXe ==
= 625,000 *4=2 7| 2,500
= 625
Al 1,875
206 M=l 1,500 2,000 A500
= 375
Al 1,125
01 =4l 1,500 2,000 A500
Oosgddd 28 Me
1,500,0002 %14 1,500
= 375




SN SIS
3 sIl=HeE
Helr XgEslE MBsY D=2 (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,125
207 ARl 16,000 28,400 12,400
= 4,000
Al 12,000
03 Al 328 16,000 28,400 212,400
OSEddd 248 Itx
333,320 x45+ 128 16,000
= 4,000
Al 12,000
DIME 2 AMETHHHA ELHE AlY 15,000 15,000
206 T2l 15,000 15,000
01 b 15,000 15,000
ODDWE HE ALK ELINE AlE
15,000,000 * 104 2 15,000
=E2e Bk =3 10,000 26,000 216,000
= 5,000
Al 5,000
101 @124H| 10,000 26,000 A16,000
= 5,000
Al 5,000
MU IIRINZZENSES 10,000 26,000 16,000
ONEEL HHIRSE SHA 29
10,000,000 * 14 10,000
= 5,000
Al 5,000
28 SANES ELEAM 4,331 3,823 508
7l 4,331
206 MH=H| 4,331 3,823 508
Jl 4,331
01 MHZH| 4,331 3,823 508
O3dz=s ELSM M=
4,331,000 14 4,331
Il 4,331
SIs0IdE 28 MY 10,000 10,000 0
206 MH=HI 10,000 10,000
01 MHZH| 10,000 10,000
O=gls lid=gs 138 dad s
= MY 10,000,000 * 14 10,000
detdsarde|dd 29 5,000 10,000 25,000
= 2,500
Al 2,500
206 M=l 5,000 10,000 /5,000
= 2,500
Al 2,500




A sz

X‘IJ_(H: lejH +
e ﬂ%iﬁ' MAS D23 (EEEE))
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 MHZH| 5,000 10,000 /5,000
O=UE = M=
5,000,000& 14 5,000
= 2,500
Al 2,500
HIOI2X 28 ELEINE & MEx s2)i=s AlY 32,000 32,000 0
== 9,600
Al 22,400
402 2I2E X201 & 32,000 32,000 0
< 9,600
Al 22,400
02 QI X2 AL EE(OIHTHE) 32,000 32,000 0
OHiOI2x 28 EZEFE & NEx =
2Il= Al 40,000,000 *17H 2=+80f% 32,000
= 9,600
Al 22,400
ASEdst & Hstds 4SAE A+ 1,123,448 406,582 716,866
= 258,000
= 10,000
Al 855,448
Ielgds ASAERE 2Y 87,682 85,866 1,816
101 @124H| 62,982 54,816 8,166
04 JIZtN22 XS 2+ 62,982 54,816 8,166
O4SANEE 29 91,3602 *10H 60 54,816
O ALUPR(LASAE R ANER 29) 8,166
>llEs 2,386,780 x1&+3E 7,161
PRLPNESS 11,4202 +BAI2H+ 182 183
PRUASFEES 7,343,0602 *4. 5% 331
PAHLEE= 7,343,060 *3.545% 261
PEIVNQALEEZ 260,3102%12.81% 34
PNESES 7,343,060 *1.75% 129
DAES S 7,343,0602 0. 9% 67
201 er2 3| 14,000 14,300 A300
01 AtR2t2|HI 4,800 5,100 A300
O2E2= & 2Z HH
30,0003 x25+50H 3,000
O&SASE 2SS HHl SXg
600, 0002 *3CH 1,800
2 5234l 9,200 9,200 0
OASAEE ST H=H|
800,000 =4CH 3,200
O&SAIEE AMEEH| =Al2c
500,000 * 125 6,000
206 M=Hl 10,000 10,000 0




el

sl
(=]

L NHEME L DEs ASAE 37 (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 MHZH| 10,000 10,000 0
OAUSANEE 2SI 2
100,000& x20E5+53] 10,000
405 AtatsE = 700 6,750 26,080
01 ML ESFSHI 700 6,750 26,050
OHRN(22XFAH4A) 700,000 *1CH 700
neEs AFRANE 2E 51,550 61,900 10,350
201 2= 34,550 44,000 9,450
01 At22t2lt] 150 9,600 29,450
OltstigdsAlE des & XS 7
150,000+ 1 150
2 s5=34l 34,400 34,400 0
OlstdsAle &dIes
400,000 «3 A+ 122 14,400
OustdsAld HaH|
1,000,000& ~12& 12,000
OltstdsAlE sl
8,000,000 +14] 8,000
206 M=l 12,000 12,000
01 MZH| 12,000 12,000
ONsgsAE 43J=0e Tt 2L
120,000 x505+23] 12,000
207 ARl 5,000 5,000
03 Al 32t 5,000 5,000
OZXAHZA =354 AIgE7 T 72
50,0002 x50E+23] 5,000
sgNgssd 29 82,816 82,816
101 @124H| 54,816 54,816
M IRINZZENSES 54,816 54,816
OsgHsgssd 29
91,3602 * 102 +60 54,816
201 fer= 3| 13,000 13,000
01 At 2|l 8,000 8,000
Osgngssd =g+
400,000 x5 2,000
OsgMaua=gd JA=+g
150,000& *402] 6,000
02 S3=4gl 5,000 5,000 0
OsgMEssd ANE3Hl =Al2el
500,000& 105 5,000
206 M=l 15,000 15,000
01 M= HI 15,000 15,000
OsgHsus MEiz 7
100,000 * 1502 15,000
KNAESASIHE AIFAF 105,400 116,000 210,600




el

sl
(=]

D NGEAS 2 nsds ASAE HF (EEEE))
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
206 =6l 10,000 15,000 5,000
01 =Yl 10,000 15,000 A5,000
OUTPNY ZUEE SIS
10,000,000 * 10 2 10,000
207 AL H| 10,000 10,000
03 AlE o1 28| 10,000 10,000
OXltssss ol
100,000 *20&*53| 10,000
402 QI2EXH=01 N 85,400 91,000 5,600
01 QIR A 22 (KHRITHE) 85,400 91,000 25,600
OXMEY ESC AEZE 22 AlIY
28,000,000 & 14 28,000
OJIZH S ek AIZTHEE Al
29,400,000 14| 29,400
OAldoteA B8 ANIEE 25 Al
28,000,000 14! 28,000
=23 A 260,000 260,000
201 L2 AH| 180,000 180,000
01 AtR2telt] 31,500 31,500
O=std&Ale ME & 22
31,500,000 & 14! 31,500
03 A2 G| 148,500 0 148,500
O=3dAE 29 148,500,000 * 14 148,500
206 =4l 80,000 80,000
01 =Yl 80,000 80,000
O=3s ¢ 80,000,000 14! 80,000
Jl=E2MA Cels 28 Ax(=ddY) 500,000 0 500,000
= 250,000
Al 250,000
201 B2 AY| 8,000 0 8,000
= 4,000
Al 4,000
03 A2 G| 8,000 0 8,000
Olterd EOolHl AR Y
8,000,000 * 14| 8,000
= 4,000
Al 4,000
206 =8l 30,000 0 30,000
= 15,000
Al 15,000
01 =l 30,000 0 30,000
OCtel dBIM=D = WE M2
30,000,000 14| 30,000
= 15,000




SN SIS
X sl
Chel: MGSA3 U Dstels ASAE 01 COR
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 15,000
301 LEtE NS 2,000 2,000
= 1,000
Al 1,000
11 AALAEIXIE S 2,000 2,000
Oodtsted gonl 29 2,000,000& *14] 2,000
= 1,000
Al 1,000
307 el2to| & 140,000 140,000
= 70,000
Al 70,000
02 QIZHEAAEE X 140,000 140,000
OUeH JI8a3 e 80,000,000& *14! 80,000
= 40,000
Al 40,000
OCteH & HCIAR! XTI HE
60,000,000 * 14 60,000
= 30,000
Al 30,000
402 2I2FX=01 & 290,000 290,000
= 145,000
Al 145,000
02 BIENEASEZ(0IETHR) 290,000 290,000
OCicH U3 FAHHD| SHAS
80,000,000 *14! 80,000
= 40,000
Al 40,000
OCtcH BIJIS B &5
60,000,000& *14] 60,000
= 30,000
Al 30,000
Odstd 2222 ALY A5
150,000,000 * 14! 150,000
= 75,000
Al 75,000
405 THaHF =4 30,000 30,000
= 15,000
Al 15,000
01 ML ESFSHI 30,000 30,000
OCieH M8 Hlm &3
30,000,000 *14! 30,000
= 15,000
Al 15,000
AASE =UIls 16,000 16,000




SN SYIED
3 I =M
ol NGSAE U DEAE ASAIE o7 (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 8,000
Al 8,000
402 QIF X201 & 16,000 0 16,000
= 8,000
Al 8,000
02 QI A2 AL E R (0IHTHE) 16,000 0 16,000
Ossu AN S stuse 28 &
S8 A 16,000,000 * 10K 2= 16,000
= 8,000
Al 8,000
ESUH SEya AZE 20,000 0 20,000
< 10,000
Al 10,000
201 Eer23 | 8,000 0 8,000
= 4,000
Al 4,000
01 At2teltl 8,000 0 8,000
OSSR Moh7Iz As
8,000,000 14] 8,000
= 4,000
Al 4,000
301 22N = 12,000 0 12,000
[ 6,000
Al 6,000
11 dALEEIXIRE S 12,000 0 12,000
OdEXS &2 SYALE 2 HXI0H=
120,000 x50 #2353 12,000
= 6,000
Al 6,000
NeEs 1,933,000 67,000 1,866,000
UWRHHXIE (s 1,933,000 67,000 1,866,000
B YA 1,933,000 67,000 1,866,000
701 JIEtRI HSHES 1,933,000 67,000 1,866,000
01 It AN ES 1,933,000 67,000 1,866,000
O=ZEAIY S8 dE= 1,833,000
PsURES0IY= HHEHEH HE
1,933,000,000& * 14 1,933,000
HY2EGH(sYII=m) 86,688 83,782 2,906
eIE 2 (sYI1=n) 62,244 60,678 1,566
H2AH(sgII=s) 62,244 60,678 1,566
101 @124H| 62,244 60,678 1,566
01 &2 50,126 50,085 4
OARRIeIRR4Y
11,1302 x 15 +300A1 2+ 50,126
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